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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any 5 questions from Section A and any 5
questions from Section B. Clearly 1nd1cate the section
when answermg any question.

3. All questions in Section A carry 6 marks each, and
all questions in Section B carry 12 marks each.

4. AnsWers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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SECTION A
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‘1. What does the IS curve show? “A higher marginal

propensity to consume makes the IS curve flatter”.

Do you agree?
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What is the liquidity trap? Is there any crowding out

of private investment if the government uses
expansionary fiscal policy when the economy is in the

liquidity trap? Explain.
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Assuming that the actual price level in the economy

is equal to the expected price level, explain how

unemployment is determined in the economy.
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What happens to the aggregate demand (AD) curve
in the economy if investor confidence in the economy
improves?
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5. Briefly explain the difference between the

Philips curve and the expectations augmented Philips

curve.
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6. Explain the concept of buffer stock saving. Discuss
how far the empirical evidence provides support for

buffer stock saving.
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7. Explain the concepts of anticipated and unanticipated
inventory investment. How are these related to

aggregate demand?
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;I. Using IS-LM analysis explain the crowding out of

private investment when the government increases its
expenditure to stimulate the economy. What can the

government do to prevent this crowding out?
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2.  Consider an economy

C

0.8Y,
T =1000

= 800 — 20i
G = 1000
L =0.4Y _ 40;

M/P = 1200

P.T.O.
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where C is consumption, Yd is disposable income, 'l

is lump-sum tax, | is investmont, i is interest rate, (

is government expenditure, L is real monecy deman

and M/P is real money supply.

Derive the 18 and LM equations and the equilibriun

of this economy,
v SefEEer ROREr ke

C = 0.8Y,
T = 1000
I = 800 - 20i

G = 1000

]

L = 0.4Y — 40i
M/P = 1200
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if workers become more unionized, what happens to
3. |
the patural rate of employment and the natural rate of

output 10 the cconomy?
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4 Suppose that the economy is in medium-run

equilibrium, that is, the actual price is equal to the
pected price. If the Central Bank carries out a
monetary contraction, what happens in the short-run

and the medium-run/long-run equilibriums?
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onship between the inflation rate and

t rate. How does the degree of
bove relationship?

5. Explain the relati

the unemploymen

indexation of wages affect the 2

P.T.O.
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6. (a) Explain the g-theory of investment.

(b) Explain the determinants of the desired capital

stock.
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7. Explain the Life-cycle theory of consumption with the

help of a numerical example.
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